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Question No. 1
A Wold AT G907 FI FH I & [T &7 T I 87
A)STS WX & AT I §g ol of9Td & B)dIS &l Ush el HUS T Uicd gl
C)aIS & T 1SS # Far WA § dlfeh F[ia FaT1 @l D)aIS R alish usst fsad

What do we do to reduce friction while playing carrom?

A)Apply two or three oil drops on the board B)Wipe the board with a smooth cloth

C)Keep the board elevated in one side so that there isD)Sprinkle fine powder on the board
a slant

Answer Key : D Your Response : D (Correct)

Question No. 2
2018 & TRIAT HY AFHieT TP i Agare Fa o a fr 82
A)dieT B)arer
C)sRa D)SdTet

Which country hosted the 2018 Track Asia Cup cycling tournament?

A)China B)Nepal
C)India D)Japan
Answer Key : C Your Response : Not Answered

Question No. 3

frfaf@a e 7 @ & Rl &t 39w 7 Tgee FHERoT F Hgfod

5+6+3-2x5=13
A+ 3T + B)+ 3R -
C)+ 3R x D)+ 3R x

In the following question, correct the equation by interchanging the two signs.

5+6+3-2x5=13

A)+and + B)+ and -
C)+ and x D)+ and x
Answer Key: C Your Response : C (Correct)

Question No. 4
T a7 Reresi & @ 3@ F g

T i — R T W v (S N V< C ) — kY




A) B)

C) D)

T

Find the ODD one out from the given options.

A) B)
LY
N
C) D)
Answer Key : D Your Response : D (Correct)

Question No. 5
g 3ol AfAfRAT F i@ # @ it A 39 SeueT gl 87
A)IS E Scleel 6T Bl o B) 30 U 1o & &
C)3itrdisia D)gTsgrsteT

Which of the following gases evolved in a metal acid reaction?

A)No gas is evolved B)Depends upon acid
C)Oxygen D)Hydrogen
Answer Key : D Your Response : D (Correct)

Question No. 6

B.C.G. & &% T ST T A AU F AT FFAr Siar §
A)YTehiaraT B)&HER
CRerst B)BEIECD

B.C.G. vaccine is normally used to prevent-

A)Leukaemia B)Cancer
C)Rabies D)Tuberculosis
Answer Key : D Your Response : Not Answered

/
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A)T&H3-s B)gcar-Hz
C)#rex ufa F&s-m s D)#HeI-m

What is the Sl unit of wave velocity?

A)Second-s B)Hertz-Hz
C)Metre per second-m s™ D)Metre-m
Answer Key : C Your Response : C (Correct)

Question No. 8
o ¥ FT W7 37 Ot o st T A 3 A A WA &2
A)4 3T 9 B)1 3R 4
C)3 3 7 D)1 3T 6

Which of these digits CANNOT be the last digit in perfect square numbers?

A)4 and 9 B)1 and 4
C)3and7 D)1 and 6
Answer Key : C Your Response : C (Correct)

Question No. 9

e aer & 1047 3R 1147 erarsdr 7 wflg Wopuer Hfet &1 0T Frr ar?
ATz B)der

C)darelerx D)ot

el

Which dynasty built the famous Khajuraho temples in the 10th and 11th centuries?

A)Pandya B)Chola
C)Chalukya D)Chandela
Answer Key : D Your Response : Not Answered

Question No. 10
TS HEH H URT H &R & A =elled H Jolol H URT A I o= 7 a oy F e 77 9w gl
Mt STel # AT BT =rel 3 GRT T =Tel T 9T AT HifSC]
A)3 1 B)3 : 2
C)2 : 1 D)4 : 1

A man takes twice as long to go upstream as to row downstream. What is the ratio of speed of boat in still
water and the speed of stream?

A)3: 1 B)3:2
C)2:1 D)4 : 1
Answer Key : A Your Response : C (Wrong)

Question No. 11

ar ,jtanAtanB +tan Acot B
sin A sec B

Ifg A + B =90°, T AT AT AT




A) B)

tan® A sec A
0) D)

tan A gec’ A

tanAtan B+tan A oot B
If A+ B =90°, then find \/ an i ! MAED
sin AsecB

A) B)

tan® A sec A
C) D)

tan A sect A
Answer Key : B Your Response : B (Correct)

Question No. 12
T JEART 200 e H FAE W 33 W §1 3 F Ao v A9 7 Yo v afFd 5@ 45° F I T W
@ar &1 100 ¥F= 916, 98 39 30° ¥ Iewidel HUT W aWdT &1 A1 6 9l AT o]
A)2.2 Hiex/Rdes B)1.8 #Hey/dehs
C)1.5 #Hrex/dehs D)2 #Hiex/Ass

A balloon is hovering at a height of 200 m above. A man in a boat on a lake observes it at an elevation of 45°.
100 seconds later, he sees it at an angle of elevation of 30°. What is the speed of the boat?

A)2.2 m/s B)1.8 m/s
C)1.5 m/s D)2 m/s
Answer Key : C Your Response : A (Wrong)

Question No. 13

Aol B qot iR

8,9, 12, 19, 34, (.)
A)69 B)65

C)61 B o)1 S
T - o SR O W SO B T U ) - () I X




Complete the series.

8,9,12, 19, 34, (...)

A)69 B)65
C)61 D)58
Answer Key : B Your Response : B (Correct)

Question No. 14

PR & & FiF @ wF e AT §2
A)RUH S EFEX
C)3nfadr D)AoTIr

pe)

Which of the following is a dance drama?

A)Kathak B)Kathakali
C)Odissi D)Manipuri
Answer Key : B Your Response : C (Wrong)

Question No. 15

50 W3 #, & FUT F 915 aF ey e e §) 39 fendEh) #F 9 st afvs w7 & w6 3w &
e
1) |37 ARG, TF gl

2) @efr 1S, W g1

sy
. $& SARG, NS

II. F& 5, S5 gl
Ay | 3R 11 gt g 39gerd gl B)Fder ey | 3uged Bl
C)dhae sy |l 3uga &l D)aAr ar s | 3R =1 81 |l 3ugerd gl

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All buildings are chalks.
2) All boards are chalks.

Conclusions:
I. Some buildings are boards.
1l. Some chalks are boards.

AYRoth concliisions | 88 e T e e TR T T LR 7. ]



Question No. 16
MR & oo & WA 366 Far 6 31y 38 a¥ oA 39 37W 4 a§ SR 30 A N FH g3, a9 WA Al
T g 36 a¥ A Ieih AICT-RIAT B Y F IHR AT Ao
A)6 a¥ B)4 a¥
C)2 a¥ D)8 a¥

Asha was born when her father was 38 years of age. When her brother four years younger was born, her
mother was 36 years of age. What is the difference between their parent's ages?

A)6 years B)4 years
C)2 years D)8 years
Answer Key : A Your Response : A (Correct)

Question No. 17
# gl WETd: 3Ry @

A) g B)set

C)fafeamt D)siaror

o

Hormones are normally absent in-

A)Rats B)Monkeys
C)Cats D)Bacteria
Answer Key : D Your Response : D (Correct)

Question No. 18
"Cefee YGNUT Y GG RRw a¥ o 'faRg wteaver Rew @ fwg-awg g/
A)2019 B)2015
C)2018 D)2016

"Beat plastic pollution" is/was the theme of the 'World Environment Day' in the year-

A)2019 B)2015
C)2018 D)2016
Answer Key : C Your Response : C (Correct)

Question No. 19
ARETSH F TR F go 3R FW & 30N & AT G TATUTAS HiT 4T 82
A)Na-24 B)C-12
C)U-235 D)Co-60

The isotope used to remove the brain tumours and treatment of cancer is-

A)Na-24 B)C-12
C)U-235 D)Co-60
Answer Key : D Your Response : Not Answered

Question No. 20
A FAGAT '+ §, B A AT - §, 'C FH Ao X IR'D HAFGea '+ §, 81 DI9C5D15A
8B 11=2
A)0.15 B)22

== e T e e TR T T LR 7. ]




If 'A' means '+, 'B' means -, 'C' means 'x' and 'D' means '+, then81D9C5D15A8B 11 =7

A)0.15 B)22
C)12 D)0
Answer Key : D Your Response : D (Correct)

Question No. 21
3ectel ofF SaRT 3l & 91§ 2F; W aFg & T PR H Alda WIod Fe & AT awg 1 el @ e
afgw?
A)2F1 W B)2F; ¥ W
C)wird Fq 3R 3ifftes &g O & I D)3ted W

To obtain the same size image at 2F; after refraction by a convex lens where should the object be placed?

A)At 2F B)Beyond 2F
C)Between focus F1 and optic centre O D)At infinity
Answer Key : A Your Response : Not Answered

Question No. 22
Ife ey AREe Fesmar 3, 'oka peru' & Fee fine cloth' §, 'meta lisa' FT el ‘clear water' 3 'dona
lisa peru' #T Ao ‘fine clear weather' ¥, 31 HcswT & 5 s T AT 'weather' gromr?
A)dona B)meta
C)oka D)peru

If in a certain language, 'oka peru' means 'fine cloth’, 'meta lisa' means 'clear water' and 'dona lisa peru’
means 'fine clear weather', what word in that language mean 'weather'?

A)dona B)meta
C)oka D)peru
Answer Key : A Your Response : A (Correct)

Question No. 23

TeTy T arSHIRIoT gf ST g1
A)ZHh FTelelieh T FW o dT W B)3a% FaUAHR ¥ AT & dd W
C)z3Heh FaUATh F I o did W D)gd% el & AT & did WX

Evaporation of material takes place-

A)Above its melting point B)Below its boiling point
C)Above its boiling point D)Below its melting point
Answer Key : B Your Response : C (Wrong)

Question No. 24

& oS Al H, g AR F e ST 8, Ber 9w ofyer awe
#r fwiE wtar g, 3R 3ea R @ f@wha war g1 i @1 8T s
3T =T 9fgar S o+ SEg Har ¢ olfehed 9@ @ F80?




A) B)

C) D)

In the given figure, the circle represents vehicle, triangle represents
four wheeler, and rectangle represents car. Which region represents
car and four wheeler but not vehicle?

R

.’11
A) B)
U
C) D)
Vv
)
Answer Key : B Your Response : B (Correct)

Question No. 25
ar WFR & e, e Ao .38 uf G 3t €42 ufd R §, wee Amr # fere s § 3R 45 wf
fram & o1 9T 9 1 §1 SR @ A fifawl
A)18% B)12.5%
C)10% D)15%

Two types of rice costing Rs.38 per kg and Rs.42 per kg are mixed in equal quantities and sold at Rs.45 per
kg. Find the gain per cent.

A)18% B)12.5%
C)10% D)15%
Answer Key : B Your Response : Not Answered

Question No. 26

cos B cos O .
+ :4 Tals A

1-sin® 1+sinf ar ‘6 A AT KT, ST 6
ra‘\aEF;lU| %’|

A) B)

a
30 T o — . R S W W v S R T CN i ) — 1)



C) D)

=1

° 60°

cos® | cosB

If =4, find the value of '8', where '6' is acute.

1-sin6 T1+sin 3]

A) B)
30° 450
C) D)
75° 60°
Answer Key : D Your Response : D (Correct)

Question No. 27

fT=faf@a 7 ¥ Fad @Y ga g ST 82

A)HFT &7 F ifaRiTer Siig B)3UIf&#AT s
C)f&=R sz D)de# T Siig

In which of the following is synovial fluid found?

A)Freely movable joint B)Cartilaginous joint
C)Fixed joint D)Fibrous joint
Answer Key : A Your Response : A (Correct)

Question No. 28

ST & FHeART AT H SHS AT §7?
A)kJ/kg B)J/kg K
C)MJ/mg K D)kW/mg

What is the unit of calorific value of a fuel?

A)kJ/kg B)J/kg K
C)MJ/mg K D)kW/mg
Answer Key : A Your Response : A (Correct)

Question No. 29
WA 12 A HEABHT T AeThe A il
A)156 B)126
C)108 D)112

T SR O W SO B T ) e— X



C)108 D)112

Answer Key : A Your Response : Not Answered

Question No. 30
P AT FEIT FAAAT AR ARIRST FHI GrAYIE FIRY e & AT Scaieri §7?
AV 3R FEROT HATord B)fager #Fatery
C)ale HATo D)&T HATET

Which Union Ministry is responsible for the issue of passports to citizens of India?

A)lInformation and Broadcasting B)External Affairs
C)Home Affairs D)Defence
Answer Key : B Your Response : A (Wrong)

Question No. 31
&t 99 3R 15 F FA.H/.A(LCM) 3R HA.G(HCF) T Ui w1 HiforT]
A)165 : 3 B)165 : 1
C)1 : 165 D)3 : 55

Find the ratio of LCM to HCF of the numbers 99 and 15.

A)165 : 3 B)165: 1
C)1: 165 D)3 : 55
Answer Key : B Your Response : B (Correct)

Question No. 32

g #r S B
A) TSS90y B)=IE thest
C)tard D)%®hs

Thrombosis is a disease of the-

A)Thyroid gland B)Nerve bursting
C)Blood D)Lungs
Answer Key : C Your Response : Not Answered

Question No. 33

ar sffet P 3R Q Hr e F 3gaa 3:2 §1 T.400 Fr SAF Al F § P el TR & Sl wnfge?
A)%.160 B)%.260
C)%.250 D)%.240

Capacities of two workers P and Q are in the ratio 3 : 2. What amount of the daily wages of Rs.400 should be

given to P?

A)Rs.160 B)Rs.260

C)Rs.250 D)Rs.240

Answer Key : D Your Response : D (Correct)

Question No. 34
aﬁsmﬁksasﬁ?MWﬁ10ﬁﬁﬁ{{rwm%m26m3ﬂw4aaﬁ3ﬁ2ﬁﬁﬁw
Hohd g, d Th 3EHT




If 6 men and 8 boys can complete a work in 10 days and 26 men and 48 boys can do it in 2 days, then find
the ratio of capacity of a man to that of a boy.

A)2 1 B)6:5
C)4:3 D)3: 2
Answer Key : A Your Response : C (Wrong)

Question No. 35

o5 §1Ss & a5 3R sl 7 g & TH 3GTE0T &l
A)fararaer dffsRar B)@eeivuT 3TfaAfshar
C)31uecsT ’fAfshar D)3eriieeor Afafshar

Breaking of lead bromide into lead and bromine is an example of

A)Displacement reaction B)Synthesis reaction
C)Decomposition reaction D)Neutralisation reaction
Answer Key : C Your Response : C (Correct)

Question No. 36
AR iaemsT & 99 J Pfaf@d # & PieT 91 AT Hér 87
A)TE U e ¥ fafeer d@fawre ov smRa Bl B)¥E Il g & FeArsT & Hidensd 9 3menia gl
C)Jg shad URd WHR ATTETH, 1935 & 3TUR RD)Ig Hs TlAem=r &1 FHaor g
AT I E

Which of the following is CORRECT with respect to the Indian Constitution?
A)lt is completely based on British Constitution B)It is completely based on Constitution of Canada
C)lt is made only on the basis of Government of IndiaD)It is a mixture of several Constitutions

Act, 1935
Answer Key : D Your Response : C (Wrong)

Question No. 37

el a&g &7 geadT $HF & AT BT &l
A) AT B)&sica
C)sisea D)aer

The mass of an object is the measure of its-

A)Volume B)Density
C)lnertia D)Force
Answer Key : C Your Response : A (Wrong)

Question No. 38

Sieee & YUAIY] d1G I Hled W HRUROT Sed#lT W07 & e 1 aRone §72
A)mfrqar?&qmmlmagammﬁﬁaﬁraﬁ%ﬁ)mﬁmmac—oré?lmmg,Wﬁ?mﬁa

St e JfAfRanst & amr o gl ot HA FAE B Bl
C)WRHATY JHfasTsd ol &, fSieg T@diaeh 3fAfhar AD)AMe deal & WABT & gegdAE AR qEElH
FART AT 7S AGT fHAT ST HeheTl T[0T 3{TaT-37019T Bt &

\AlThirh nAactillata Af NAEEE T T — e e el e 7. lncea?



C)Atoms are indivisible particles, which cannot beD)Atoms of different elements have different masses

created or destroyed in a chemical reaction and chemical properties
Answer Key : C Your Response : D (Wrong)

Question No. 39

RBI &T gdHTT Ge HieT 272

A)ST. TEH G. Tsiel B)sl. 3foid R. uear
C)gl. D. gsaRTd D) ard

Who is the present Governor of RBI?

A)Dr. Raghuram G. Rajan B)Dr. Urjit R. Patel
C)Dr. D. Subbarao D)Shaktikanta Das
Answer Key : D Your Response : C (Wrong)

Question No. 40

Aoft & qof A

A ZC X EV,G,(.)
A)W B)N
C)M D)T

Complete the series.

A, Z,C, X EV,G,(.)

A)W B)N
C)M D)T
Answer Key : D Your Response : D (Correct)

Question No. 41

fw 1w et 3 F 3T F A
A)15 B)25
C)75 D)45

Find the ODD one out from the given options.

A)15 B)25
C)75 D)45
Answer Key : B Your Response : B (Correct)

Question No. 42
afE 5/8 = x% &, & X' T AT =T §?
A)62.5 B)65.7
C)67.5 D)40

If 5/8 = x%, what is the value of 'x'?
| IS Ten P Eloetel  Cads e whl S




Answer Key : A Your Response : B (Wrong)

Question No. 43

et K i et & = giar 872
A)UTTs T HAEIT B)se# & |elr
C)IFd &FI UFHI ST & FAL] D)Ffeaad & TaIad H FHE

What does Vitamin K deficiency lead to?

A)Problem in digestion B)AIl of the options
C)Problem in blood coagulation D)Problem in calcium metabolism
Answer Key : C Your Response : C (Correct)

Question No. 44

AT SRR #F & ¥ 96 3R A e 91w e &7 3aa¥ &l

ABCVUIRTwaRaIVVUIRTwHgaF iR HAIRGFFRF BT ABIARC
o S e & TRE AR A § e 3 ¥ & g A AR A A& Bw gu § (b A Ruda Rew # g fre
gU )V, C & T 3N g@ T W ¥a7 ¥l U, A & 2% 3N g VI W 37 §1 B, T & I§ 3N WY
T WIS §1 C, T F T 3K g TUT W 3T &1 A, V F F9reT 7 v B

gffonad farr & B & arder T $r Rufa = 87
A)ET$ 3R & gET B)ers 3R & ofRRr
C)aTE 3T & =herr D)aTE 3R & T

Read the following information carefully and answer the question given below.

There are six friends A, B, C, V, U, and T. V, U and T are seated in a circle facing the centre. A, B and C are
also seated in the same circle but two of them are not facing the centre (facing opposite direction of the
centre). V is second to the left of C. U is second to the right of A. B is third to the left of T. C is second to the
right of T. A is seated next to V.

What is the position of T with respect to B in clockwise direction?

A)Second to the right B)Third to the right
C)Fourth to the left D)Third to the left
Answer Key : B Your Response : D (Wrong)

Question No. 45

Aot #r gt A

L MP,S, () ()
AV, Y B)Q, U

U == BT T=s BV Tl e 7. 1




Complete the series.

LM PS,(.), (...)

AV, Y B)Q, U
C)K, W D)Y, W
Answer Key : A Your Response : A (Correct)

Question No. 46

3 WA H, & FUST F TI5 oF fAwwy T aw §) 37 (s Fr 9o o aiffer w7 & wEifte sage &

h¥ed:
1) @& Toer, 3 &l

2) @l g, gFa= g1

IGAC2 R
l. $T TR, Tool Bl

II. @efr soa, gecrer Bl
A)aae sy | 3 &l B)ar o sy | ar ar 1l 39ged &
C)dae frsshy Il 3ugerd gl D)feses | 3R 11 gl 3ugerd gl

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All bats are balls.
2) All balls are gloves.

Conclusions:
|. Some gloves are bats.
Il. All bats are gloves.

A)Only conclusion | follows B)Either conclusion | or Il follows
C)Only conclusion [l follows D)Both conclusions | and |l follow
Answer Key : D Your Response : D (Correct)

Question No. 47
afg a 3R b, FHEOT 3x® - 5x + 2 = 0 F AqA §, @ (a/b)+(bla) F AT AT HFATI
A)9/13 B)13/9
C)13/6 D)13/2

If a and b are the roots of the equation 3x2 - 5x + 2 = 0, then find the value of (a/b)+(b/a).
A)9/13 B)13/9
CYR/a == BT T BV Tl i 7. 1




Question No. 48
TSHISS FEN 3cUee] Flol dld SPHIFS e I aRYeraar rafer frae giclr 82
A)90 & 92 feeT B)8 & 14 e
C)0 & 2 fea D)3 & 5 fea

The incubation period of Typhoid bacillus causing typhoid fever

is-

A)90 to 92 days B)8 to 14 days

C)0 to 2 days D)3 to 5 days

Answer Key : B Your Response : B (Correct)

Question No. 49
frlt dar & o & AT I & G F 4 TN FY U W WIS HEAT 3H FEAT ¥ 50 AWF g1 dEwr A
Eadl

A)5 B)6

C)10 D)4

Three times the square of a number decreased by 4 times the number is equal to 50 more than the number.
Find the number.

A)5 B)6
C)10 D)4
Answer Key : A Your Response : Not Answered

Question No. 50

'TEFTS' 3T RS Usg Fad Hafad &7
A) R B)dRarsir
C)#RiIcdlersT D)

The terms 'butterfly’ and ‘freestyle’ are associated with-

A)Swimming B)Archery
C)Weight lifting D)Wrestling
Answer Key : A Your Response : B (Wrong)

Question No. 51
P4, P2, P3 @ a2 4%, 6%, 8% W 39 YR @9 fFar anar &, & af & 3ig F daf ot @ urea
WERYT sOreT W @Yl afe et FaRa afRet & @er $.2600 &, & wa=: Py, Py 30K P3 & A @0
HfaT)
A)%.1200, %.600, %.800 B)%.1100, %.800, %.700
C)%.1000, %.900, ¥.700 D)%.1200, %.800, %.600

P4, P2, P3 are invested at 4%, 6%, 8% respectively such that the Simple Interests from all the three at the end
of the year are equal. If the sum of three investments is Rs.2600, then find the values of P4, P> and P3

respectively.
A)Rs.1200, Rs.600, Rs.800 B)Rs.1100, Rs.800, Rs.700
C)Rs.1000, Rs.900, Rs.700 D)Rs.1200, Rs.800, Rs.600

Ancwer Kav * D | e S > T I T EN 1 7. |



T Gfoet @ ©.572 # 99 W, Th GHEGR H Sforet & FT H{ed & 30% & e R 1 «1er iar gl

ST T T H{od AT HY
A)%.420 B)%.400
C)%.440 D)%.340

By selling a transistor for Rs.572, a shopkeeper earns a profit equivalent to 30% of the cost price of the
transistor. What is the cost price of the transistor?

A)Rs.420 B)Rs.400
C)Rs.440 D)Rs.340
Answer Key : C Your Response : C (Correct)

Question No. 53
fAefaf@a & @ #la a1 AGNI = T8 dor ¥ aftta &ar &2
AT gl SR B)cidl gl &1 AR g
C)ua st faareT Dyeldll gl & AR fAdse

Which of the following CORRECTLY describes AGNI?

A)A versatile tank B)A long-range gun
C)A fighter plane D)A long-range missile
Answer Key : D Your Response : D (Correct)

Question No. 54
3 T #r @it e @ off B g & venr & @ 1 @ 82
AYETer B)3iés
C)tr3 D)egesT

Who discovered the fact that sunlight consists of seven colours?

A)Snell B)Oersted
C)Faraday D)Newton
Answer Key : D Your Response : A (Wrong)

Question No. 55
wE A9 12 Bl f g a7 w0 §1 uR A Rew 7 wger 4 fFeh & gl 15 e F a7 v Sl 81 3wrer 8
forelt T g amT & Rl R 7 a7 Fr Sl &1 arr Fr @ F q@ fr we, o/ F Ada wr F a= Hir
el ¥ SR §1 AEr A Sa @ wa Aifd
A)11.6 Terali/eier B)10.4 fewefi/erer
C)10 foraf/eer D)9.6 fast/eer

A boat travels a distance of 12 km. The first 4 km along the stream is covered in 15 minutes. The next 8 km is
upstream. The downstream speed is twice the upstream speed. What is the average speed for the journey?

A)11.6 km/h B)10.4 km/h
C)10 km/h D)9.6 km/h
Answer Key : D Your Response : A (Wrong)

Question No. 56

maﬁﬁaﬁrmmmmmmugﬁﬁaaﬂr;ﬁﬁamm#ﬁaﬁammm
- | T T T |

i el Fad o= e




C)120 D)160

Find the maximum number of children among whom 429 pencils and 715 pens can be equally distributed.

A)143 B)100
C)120 D)160
Answer Key : A Your Response : A (Correct)

Question No. 57
A 3R B, Heer: $.50000 3T %.60000 & QT F& TH HBIGHT H 94T &S &l X A= & a9 C o
%.70000 f&er FX&F 7% WY T3 AT ¢, a9 F 3id ¥ X 7T 96 B 370 WG A fewer awer g1 X 9
20:18:21 & 3IHe[UIcT A W7 WS A &, df X' & AT AT RS
A)3 B)4
C)5 D)6

A and B enter into a partnership with Rs.50000 and Rs. 60000 respectively. C joins them after X' months,
contributing Rs.70000 and B leaves X' months before the end of the year. If they share the profit in the ratio of
20 : 18 : 21, then find the value of 'X'.

A)3 B)4
C)5 D)6
Answer Key : A Your Response : Not Answered

Question No. 58

%.5000 $r e-IRr W 5% A surer & T A 6 anf 3 wrog WeRvr sarer i A 7T w0
A)%.1400 B)%.1500
C)%.1200 D)%.800

What will be the amount of Simple Interest on Rs.5000 at the rate of 5% per annum after 6 years?

A)Rs.1400 B)Rs.1500
C)Rs.1200 D)Rs.800
Answer Key : B Your Response : B (Correct)

Question No. 59

U T 3R U el A FAE FAT &1 3TAF AT FT AT AT PiforC]
A)6 : B)4 :
C2:m D)3 :m

A cube and a sphere have equal height. Find the ratio of their volumes.

A6 By4:m
C2:m D)3:m
Answer Key : A Your Response : A (Correct)

Question No. 60

Rw arv Rl & § T A I
A)GEC B)NKH
C)GDA D)ZWT




C)GDA D)ZWT

Answer Key : A Your Response : A (Correct)

Question No. 61

IRT R A & R Ry &2
A)FTEIAT B)@cTelsT
C)grerat D)zagar

Agra is located on the banks of river-

A)Saraswati B)Sutlej
C)Jhelum D)Yamuna
Answer Key : D Your Response : D (Correct)

Question No. 62
fRuger siter ___ @ &
A) 3T ATETH # dlell, &R ATRH & I[ere B)31Fclig AeTH & WiEle, &R AEIH H [erel
C)31Fel ATLIH #H T[elell, &g ALIH # T D)3 el ATCIH H oflel, &R Aregd & drerr

Methyl orange is-
A)Yellow in acidic medium, pink in basic medium B)Colourless in acidic medium, pink in basic medium
C)Pink in acidic medium, colourless in basic medium D)Red in acidic medium, yellow in basic medium

Answer Key : D Your Response : D (Correct)

Question No. 63
IES 39 W A FS g¥ aF el el AR 918 AR A3 9] 97 A& 9R & AW FqI AR 3@ 35S WA A
3R g faRm 1 36F W & " Pl o R §?
A)Td B)gfas
C)3eR D)&faror

Anandhi walked straight for some distance from her home and turned left. She turned two times right and
facing east. Which direction is her home facing?

A)East B)West
C)North D)South
AnswerKey: C Your Response : B (Wrong)

Question No. 64
Rl REH Y 3N He Fhe gu &1 36F o F a\ K 2:00 S @ § 6 aren gE B foww Hr R A
A?
A)ETEreT aftas B)gfaror &
C)3eeR aR™H D)3eeR qd

Bharath is facing west. His watch is showing time as 2:00 PM. To which direction will hour hand point?
A)South west B)South east

C)North west D)North east
Answer Key : C Your Response : B (Wrong)




A)5 : 3 B)5: 2
C)2:5 D)5 : 4

Four years ago, the ratio of the ages of A and B was 2 : 1. Four years hence, this ratio will become 3 : 2.
What is the ratio of their present ages?

A)5: 3 B)5 : 2
C)2:5 D)5: 4
Answer Key : A Your Response : B (Wrong)

Question No. 66

ISRO @Rt 16 st 2018 #r waifdd PSLV-C42, UK & fraey Y&ToT 3Terel Ht aieht 1T A2
A)ar B)cfis
C)us D)aR

PSLV-C42, launched by ISRO on 16 September 2018, was carrying how many observation satellites of UK?

A)Two B)Three
C)One D)Four
Answer Key : A Your Response : Not Answered

Question No. 67
T3 T Iefell AT F FT A Ay gRafcld T STy &7 FT AT FgT e g2
A)3TETaag i Tar (Malleability) B)ge (Sonorous)
C)drelehdr (Conductivity) D)dstereiierar (Ductility)

The ability of metals to be drawn into thin metal is known as-

A)Malleability B)Sonorous
C)Conductivity D)Ductility
Answer Key : A Your Response : A (Correct)

Question No. 68

ST HT [ YA AT 872
A)CsH12 B)C2He
C)C3Hg D)C4H1o

What is the molecular formula of butane?

A)CsHq2 B)C2He
C)CsHs D)C4H10
Answer Key : D Your Response : D (Correct)

Question No. 69
ITRT F SEUY Sl T ufRar &, argEse A Hisg ast H 9% §g Frahr avE Fe w1 §?
A& FT e B)ahid @I Tgr
C)guor D)el®

In the process of rainbow formation in the sky, every raindrop in the atmosphere acts like-

A)Glass prism P — R\Cloce clab

P, W v i B O Y W 1



Question No. 70
o gom o Pfaf@a & & Fad defa &2
A)fshhe B) eIt
C)%esrer Dyforw

S

With which of the following is Vijay Hazare Trophy associated?

A)Cricket B)Chess
C)Football D)Tennis
Answer Key : A Your Response : D (Wrong)

Question No. 71
afg 1.5x = 0.04y &, ar (y - X)/(y + X) & AT 7T Hfow]
A)0.73/77 B)73/77
C)73/770 D)730/77

If 1.5x = 0.04y, find the value of (y - X)/(y + x).

A)0.73/77 B)73/77
C)73/770 D)730/77
Answer Key : B Your Response : B (Correct)

Question No. 72

fafafed & & Hla dr fawioy $r faRrvar 82

A)faeToy & aar 3R Sawsrl doa Al gid £l B)fawTo] el #sTelel WX & SEIMONT g
C)fastoy shaer # a3t W & Sl & Ysielal AT ¢ D)fasropsit #r fashra & fow el ameasr dr smaeaehar
TEr gl &1

Which of the following is the characteristic feature of a virus?

A)Virus comprises of fat and carcinogen B)Virus multiplies only on hosts
C)Virus breeds fast on dead animals only D)Virus does not need any medium to grow
Answer Key : B Your Response : A (Wrong)

Question No. 73

T v el & ® 97 W g4, S A RE v YT W @

gl
?
A) B)
2\ =
C) D)



Choose from the alternatives the figure that best completes the
pattern given below.

?
A) B)
2\ =
C) D)
R J
Answer Key : D Your Response : D (Correct)

Question No. 74

ARy el AR HEsor # 'SALE' &Y 'PAIE" @ S &, 38 Fesor 3 'CASUAL' &t & forar s
A)ZAPULX B)ZAPUXL
C)ZAUPXL D)ZPAUXL

If in a certain language 'SALE' is coded as 'PAIE', how is 'CASUAL' coded in that code?

A)ZAPULX B)ZAPUXL
C)ZAUPXL D)ZPAUXL
Answer Key : B Your Response : B (Correct)

Question No. 75

HleT | Aeq o Ryu 1T Heer @ walfeas dor ¥ OF wam?

SRAATCTH, : RS 2 FYF : ?
A)3TEH B)3ca¥ e er
C)3Ter weer D)ATIR

e

Which word will best complete the relationship given below?

Bharatnatyam : Tamil Nadu :: Kathak : ?

A)Assam B)Uttar Pradesh
C)Andhra Pradesh D)Manipur
Answer Key : B Your Response : C (Wrong)

Question No. 76
AES FeAAHS HT GO A T 82
A\ahE (S) | TR v e OO W VO 7. 1




What is the other name for the unit Coulomb/second?

A)Second (S) B)Joule (J)
C)Volt (V) D)Ampere (A)
Answer Key : D Your Response : C (Wrong)

Question No. 77

faf@d S & e ¥ 9¢ 3R A Re 7w wea &1 3] |

RpfAe F S, v T Ao ST &1 YT F AT, R ¥ Z a5 (a5@ 3R a=fAmar & @eon 9 =afFaat &
T el 9fFd # @sr g gsar §1 s o 9o gde gge § 3R asfhal A ARl geae g §1 ufed o
¥ AN AR & WY YE ST T a5F 3R asf 9 F ol F @3 d §) e d ads v w
hadl Uh qTFd & Wl & Thahl 8l

i) R, S & |/ T 3@ @sT gl

i) HERT ARl e T §1

iii) T o e g@RT 5t U ¢l

iv) 9fFa & 9t 'e WV @ET B

V) W, R & 3 @gr &1

vi) X, T 3R R & &rr & @sr 81

Vi) Z T dSHT B

fmfaf@a & & &l dfea & AT & @sr g7
AZ B)V
C)T D)Y




Read the following information carefully and answer the question given below.

During a picnic, a game is being played. For the game, 9 people from R to Z (mix of boys and girls) have to
stand in a vertical row. Boys are wearing yellow gloves and girls are wearing orange gloves. The row starts at
top and with orange gloves. Boys and girls stand alternately in the row. Each position in the row can be
occupied by one person only.

i) R stands seven places before S.

ii) Third orange gloves is T.

iii) Second boy after T is U.

iv) Fourth place in the row is occupied by V.

v) W stands ahead of R.

vi) X stands between T and R.

vii) Z is a girl.

Who among the following stands in the center of the row?

A)Z B)V
C)T D)Y
Answer Key: C Your Response : D (Wrong)

Question No. 78

Afaf@a 7 ¥ g 3a FF aftfeas & A tRARE 3d & 9 & FA&r JAar 872

A)TdSIEH 3F B)sTe-lgd 3iFel
C)Ad=geHh 31Fel D)WeEE 31

Which of the following acids is commercially known as acetic acid?

A)Ethanoic acid B)Butanoic acid
C)Methanoic acid D)Propanoic acid
Answer Key : A Your Response : A (Correct)

Question No. 79

TWEX, __ caRT ¥ e siafer suel gl
A)TelleT HEHR B)T. Y Jelolel
C)iheh o DRISE M. @rsege Jr.

Space X, the private space company is founded by-

A)Elon Musk B)T. Keith Glennan
C)Frank Bunger D)Robert M. Lightfoot Jr.
Answer Key : A Your Response : Not Answered

Question No. 80

ATSEISTT T SAAFIOT &THAT g Bl
A) TR & TAT B) 3ifarefioter & 3meft
C)3iTerdsiel o & D)3iferle & 31fe

The ionisation potential of nitrogen is-

A)The same as that ofaxuaesn R\Half that of pyaan
‘ A TN 2 EB ol 1 (1 Yy /

[=% AN L=

- 1



Question No. 81
frfof@a & & @la &1 &7 gfAr F wa@ FEar ASA ST YaT W §7?
A)EIF o AR B)g7els
C)3itecferar D)H R

X

Which of the following countries offers the cheapest mobile data in the world?

A)United States of America B)England
C)Australia D)India
Answer Key : D Your Response : D (Correct)

Question No. 82
3Tt 1: 8 T Gfaerd &9 41 §7?
A)12.5% B)6.25%
C)80% D)8%

What is the percentage form of the ratio 1 : 8?

A)12.5% B)6.25%
C)80% D)8%
Answer Key : A Your Response : A (Correct)

Question No. 83

i fRr FestoT 7 'MISTAKE' & 9765412 for@r iiem &, 3R 'DARKEN' & 348120 fom@m aiem g, o
'KINDEST' &I & forar sdem?

A)1702365 B) 1703265

C)1703625 D)1702356

If 'MISTAKE' is coded as 9765412 and 'DARKEN' is coded as 348120, how is 'KINDEST' coded?

A)1702365 B)1703265
C)1703625 D)1702356
Answer Key : B Your Response : B (Correct)

Question No. 84

P 3R Q 9fafed 8 o< FIH FTF TH FH & [ Hd ¢l P 315
gfafesd 8 o =1F e 30 &H & 12 fF #§ @ w=ar g, 9 Q
ehel idfead 12 o¢ F1F w30 F1HF & 10 T # U weem|
Seeiar |y et fraer fat & #@ g e

A) B)

9
7= =

é’

c) D)




A work is completed by P and Q working together 8 hours per day.
Working 8 hours a day P alone will take 12 days to complete work,
while working alone Q@ will take 10 days working 12 hours a day, to
complete it. In how many days did they complete the work together?

A) B)
- 2
7 days 6 T days
C) D)
1 1
6 = days 5= days
3 y g day
Answer Key : B Your Response : Not Answered

Question No. 85

S T STy e W T 2

A) B)
15 13

%10 " g

How many straight lines are there in the given figure?

A) B)

C D
)10 )9

e i e e T T T - i —]




gfg 36% x (4096 )12 x 144 x 9 + (93 x 722) = 4X §, X' & AT AT |
A)12 B)7
C)8 D)5

If 36° x (4096 )12 x 144 x 9 + (9° x 722) = 4%, find the value of 'X'.

A)12 B)7
C)8 D)5
Answer Key : D Your Response : D (Correct)

Question No. 87

T a1v Reredi & @ @I F I
A) B)
C) D)

Find the ODD one out from the given options.

A) B)
=g
Da
C) D)
=]
[ P
Answer Key : B Your Response : B (Correct)

Question No. 88

M TH__ Bl
A)sTS B) el
C)dT D)%el

Potato is a-




Answer Key : C Your Response : A (Wrong)

Question No. 89

FieT A g e QU a1 Hefer & Fafead® &7 & qOF am?

e : RfEIER ;o Wi ?
A)STerTeT B)gad
C)3rEqdre D)dreAt

Which word will best complete the relationship given below?

Animal : Zoo :: Patient : ?

A)Ship B)Mountain
C)Hospital D)Water
Answer Key : C Your Response : C (Correct)

Question No. 90
afg x1B + y1B - 2B = 0 g, ar (x + y - 2)3 + 27 xyz FT AT A DT
A)-z3 B)0
C)1 D)x3 + y3 - 23

If x1/3 + y13 _ 213 = 0, then find the value of (x + y - z)* + 27 xyz.

A)-z° B)0
)1 D)x® +y3®-2z°
Answer Key : B Your Response : B (Correct)

Question No. 91

an e F it a7er g & 87

AfesT # ar §ga g¥ e o &l B)dR &7 & GRIA 39al TIT o ThIl Hl Ichoied gl
L B

C)dig i o & &1 # ar B9 3 €1 D)dsT g9 & &R 9 fe@rs g & gl

Why the stars are not visible in the daytime?

A)Stars move far away in daytime B)Stars do not emit their own light during daytime

C)Stars are hidden in daytime by the shadow of moon D)They are not visible because of the bright sunlight

Answer Key : D Your Response : D (Correct)

Question No. 92

U e 4 Y, S 3R W T g@Et Y 3N T @ I W A VoW T F ifeen 3R useh 1 T B

ferem #r 3 7jF FT gT 2
A)3ee B)q&
C)ufzas D)af&ror

One day evening, Sai and Swetha were walking towards each other. Swetha's shadow fell on the right side of
Sai. Which side was Sai facing?
I r— Y

s P BTl Tads e wh 7. 1



Answer Key : A Your Response : A (Correct)

Question No. 93

et #F eauer dat Fr sgE-veE # gar Bl
JRry - B) T (cfeamirah)
C)siients D)eaaferaT

The exchange of respiratory gases in the lungs occur in-

A)Trachea B)Alveoli
C)Bronchi D)Bronchiole
Answer Key : B Your Response : D (Wrong)

Question No. 94
U 4F & AT AR g% Y55 F &Ehe F HEAIHS A W §1 I h' AR T A A Fag ik smer
e @ AwRa &= &, aF (1/h2) + (1/?) 7 AT 719 fifew)
A)9 B)1/3
C)2/9 D)1/9

The numerical values of the volume and curved surface area of a cone are equal. If 'h' and 'I' represent the
height and base radius of the cone, then what is the value of (1/h?) + (1/r)?

A)9 B)1/3
C)2/9 D)1/9
Answer Key : D Your Response : Not Answered

Question No. 95

et 3 & Fh7 W1 A R e dey A wafe G & o e

ACEG : KMOQ :: IKMO : ?
A)SUWY B)SUWZ
C)SVWY D)STUV

Which of the following will best complete the relationship given below?

ACEG : KMOQ :: IKMO : ?

A)SUWY B)SUWZ
C)SVWY D)STUV
Answer Key : A Your Response : A (Correct)

Question No. 96
eafed T s A HleT A AT, g7 T R 3R daar arelt eafaat it 3reer o & T6H Fordr 82
A)3Tadt el B)eafer &1 fAwar a1 o7
C)a3T &I dar D)3mafea

Which of these is the characteristic of sound which enables us to distinguish one sound from another having

the same pitch and loudness?
7 = T i I I I 7 s S I - Ta <O ol - (L g |




Answer Key : B Your Response : D (Wrong)

Question No. 97

Tl Ay T 3¢ T AR & ¥ FieT @ 2
A)URTATT YgIar B) 37&hesh TgIar
C)fage wersr D)#HRETSTET TeTst

From where does the Sone River originate?

A)Parasnath Hill B)Amarkantak Hill
C)Trikut Hill D)Morabadi Hill
Answer Key : B Your Response : Not Answered

Question No. 98
forden Seng '21' 3R BSr ‘2" At 9% W HT SO &A%l Al HifIw]
A)mr (I + 1) B)2mr (I + 1)
C)2mr D)nr [I + (r/4)]

Find the total surface area of a cone of slant height "2I' and radius 'r/2'.

A)tr (1 +r) B)21rr (1 +r)
C)2trl D)wrr [I + (r/4)]
Answer Key : D Your Response : Not Answered

Question No. 99

i 72 frsfifeer = x HeyAHs §, O X' F AT AT HiA0|
A)15 B)25
C)20 D)18

If 72 km/h = x m/s, then find the value of 'x'.

A)15 B)25
C)20 D)18
Answer Key : C Your Response : C (Correct)

Question No. 100
HART AlLTG S PieT A1 FEAT 9fS ATE TFHEET 30T 57 ¥ &  ToaT &2
A)STer B)& eI 31
C)BIer 3id D)=t

o

Which part of human being grows at the rate of about half-an-inch per month?

A)Hair B)Large intestine
C)Small intestine D)Ear
Answer Key : A Your Response : A (Correct)

| —w= IS T BV Tl e n . 1



